
SAP ABAP table ROIISOCTYP {SOC: Storage object type - transfer structure}

ROIISOCTYP

MANDT [CLNT (3)]

SOCTYP [CHAR (10)]

SOCKL [CHAR (10)]

SOCNR [CHAR (20)]

OIISOCK

MANDT [CLNT (3)]

SOCNR [CHAR (20)]
 ROIISOCTYP-SOCNR = OIISOCK-SOCNR 

0..N

0..N

OIISOCKL

MANDT [CLNT (3)]

SOCKL [CHAR (10)]

 ROIISOCTYP-SOCKL = OIISOCKL-SOCKL 
0..N

0..N

OIISOCTYP

MANDT [CLNT (3)]

SOCTYP [CHAR (10)]

 ROIISOCTYP-SOCTYP = OIISOCTYP-SOCTYP 

0..N

0..N

T000

MANDT [CLNT (3)]

 ROIISOCTYP-MANDT = T000-MANDT 

0..N

1


